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+ SAT Reasoning Test, SAT . SAT

— Critical Reading (IBVerbal. EF&8EH)
— Writing (T4, 2005 &Y)
— Math (3%#; X34, #&t. D)
« ACT
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- IytA(F T3>, 2005F &Y)

— |H Scholastic Assessment Test (1994~ 1996)
— |H Scholastic Aptitude Test (~1993)
- ALy R—k X ETS EE
— JE~R1505 A LLE (2008)
« American College Testing Program or
American College Test, ACT
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- SAT

— CR200-800, M200-800

— W200-800 (% f%:#E#R20-80, T v+ 11-12)
« ACT
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Combined English/Writing score = English
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« SAT: reasoning test (FEIREARRE!) vs

ACT: achievement test (GERKEH|E )
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— “runner” and “marathon”

— “oarsman” and “regatta”
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College Board Tests

SAT & Subject Tests
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SAT Subject Test

A random number generator will randomly select an
integer between 1 and 100, inclusive. What is the
probability that the integer selected will be the
product of two odd integers greater than 1.

(A) 25/100 (B) 26/100 (C)28/100 (D) 29/100 (E)
30/100

ZEZ(A): FHTHORBTHEVEDERDNIT KLY,
1L E100L T DA #IL491H

SHLER#MF24E
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ACT Math Test

. Kane bought a bag of taffy at the candy store. He
got 10 vanilla for his mom, 15 chocolate for his
dad, 6 licorice for his sister, and 22 peppermint for
himself. On the way home, Kane’s sister grabbed a
piece out of the sack without looking. What are
the chances that she pulled out a licorice piece?

A. 1/6

B. 6/6
C. 6/47
D. 6/53
E. 47/53

SAT Subject Test

» The standard deviation is least for

the data shown in which of the
following histograms?

(A) (B)
Choice (C) is the correct answer. ’ - 5_
The standard deviation is a measure Iill ﬂ“
of spread --- how far the © )
observations in a set of data are ‘ .i ' I I
from their mean. A -
The data is closest to 10 in the ®
histogram is choice (C), and thus ’ EBM
has the least standard deviation. In o

each of the other choices, the data is
further spread from 10.

SAT Math

( Data Analysis, Statistics and Probability)

* Data Interpretation
Statistics
— Arithmetic Mean, Median, and Mode
— Weighted Mean
— Average of Algebraic expression
— Using average to find missing numbers
Elementary Probability
Geometric Probability

The SAT doesn’t include Computation of Standard
Deviation




SAT (Data Interpretation) SAT (Using Average to Find Missing Numbers)

* fd]: The graph below shows « The average (arithmetic mean) of a list of 10
profits over time. The greater numbers is 15. If one of the numbers is
profits, the higher the point on removed, the average of the remaining
the vertical axis will be. (Each numbers is 14. What is the number that was
tick mark on the vertical axis is removed?
another $1,000.) As you move + Ans. 10 x 15— 9 x 14 = 150 — 126 = 24
to the right along the horizontal
axis, months are passing. In
what month or months did
each company make the
greatest profit ?

Profit (in thousands of dollars)

SAT (Geometric Mean) SAT (Independent / Dependent Events)

The largest circle has radius 8 and On Monday, Anderson High School’s basket team

. . will play the team from Baker High School. On
the small circle has radius 2. If a Wednesday, Baker High School will play the team

points chosen at random from from Cole High School. On Friday, Cole will play
the |arge circle, what is the Anderson. In each game, either team has a 50

probability that the point chosen present chance of winning.
will be in the small circle? (a) What is the probability that Anderson will win both

its games? 2x 2 =V
(b) What is the probability that Baker will its
games? Y2X 2 =4

(c) What is the probability that Anderson will win both
its games and that Baker will its games?
Ans. (4 1)/ (64 1)=1/16 ("2x%2)x2=1/8
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